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LIFE SCIENCE 

LSE-12 : PLANT DIVERSITY-I 

Time : 3 hours 	 Maximum Marks : 75 

Note : Answer the questions as directed in section A, B and C. 
Draw neat and labelled diagrams wherever necessary. 

SECTION-A 

	

Note : All the questions in this section are compulsory. 	5 
1. 	Fill in the blanks : 

(a) Archaebacteria live under 	 
conditions. 

(b) In binomial nomenclature the name of 
	 always follows the name of 
genus. 

(c) Phycobilisomes are found on the surface of 

(d) Nuclear division in fungi is generally 

(e) The pollen wall contains one of the most 
resistant organic chemicals called 
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2. 	Which of the following statements are true and 
which are false ? 

(a) Dinoflagellates possess histones that are 
characteristic of other eukaryotes. 

(b) In their vegetative phase the slime moulds 
have chitin in their cell walls. 

(c) In the division Rhodophyta flagellated cells 

are absent. 

(d) Pheromones are sex hormones. 

(e) Bryophytes are vascular land plants. 

3. Match the items of column A with the most 

appropriate items of column B. 

column A column B 

(a) Rhyniophytes (i) Carboniferous 
period 

(b) False indusium (ii) Kelps 

(c) Iodine (iii) Anthoceros 

(d) Lycopods (iv) Silurian period 

(e) Pseudoelaters (v) Pteris 

5 
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SECTION-B 
Answer any six questions. All questions carry equal 
marks : 

4. 	What are the characteristics of land plants ? 	5 
Explain, in short, their origin. 

5. 	Draw a well labelled diagram of Fucus thallus. 	5 
Also show the position of reproductive structures 
in it. 

6. 	Explain the life cycle of the fungus that causes 	5 
late blight of potato. 

7. 	With the help of suitable diagrams, explain the 	5 
life cycle of an alga showing heteromorphic 
alternation of generations. 

8. Draw well labelled diagrams of any two of the 	5 
following : 
(a) V.S. Marchantia thallus through gemma cup. 
(b) T.S. stem of selaginella. 
(c) L.S. sporophyte of Anthoceros. 

9. 	Differentiate between : 	 5 
(a) Protostele and Siphonostele 
(b) Impression and Compression fossils 

10. With the help of diagrams discuss the various types 	5 
of reproduction in lichens. 

11. Describe important features of isogamy, 	5 
anisogamy and oogamy in algae and give one 
example of each. 

12. Explain the vegetative and asexual reproduction 	5 
of bread mould. 
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SECTION-C 

Answer any three questions. All questions carry equal 

marks : 

13.  Describe the role of algae in our life. 10 

14.  What is heterospory ? 	Explain its biological 

significance. 
10 

15.  Describe common methods of vegetative 

reproduction in fungi. 
10 

16.  Discuss the ecological role of bryophytes. 10 

17.  Discuss the disease cycle, symptoms and control 

measures of powdery mildew of rose. 
10 
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